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C:(§=at-x) Yooy : 9873 8eoi=d
Pe =0 ¢ C . fix

(P-Po)+(@-P)=R - Pttt

? = LVLQ_

L—Q_ 13 i'nvolu'l‘l'ch g3 MPQ%
5 23 =" T, u

)
\

(P-00) + (Q-00) ~ (R -00)




Det

C : curve ;
eég: Ci(ec) —>
Jac (C) := Cl1°(c) =ker{ 3 wc £ %
20 P > Z
finite
Cl(c) ={ 2. n;:P; lh;eZ[ , Pre C} /N

D, ~ Dy = D."'DQ_:(CP) For F@ekc)

Po € C : $ix
Joe (C) » YD 5h;.€7£>o aP;EC

st D ~2ZnmPi —(Zn) P 5 Sns s gce)
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§1. H)'Pere“fp'h'c curve

hyperelliptic
Co =0 x™ v v a3 ) {0} Jorve ¢ 5eermg
Po=00 ©393.
Prolplem
D‘ y) D2 € JQQ(C)
2¢ ¢
Di+D, = Z.Pi - 9300 ~ 2iR;: - % 00

N YR A

3, ,Qn‘heowly eguivalenbe + 5. L3 e k(c) 37
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Thm 1. (3(c)=:9 x\v —BR o)
D| 'l'Dg - Z(P£ -00) ; P.i ?&?3’:?; (
n:=[13+1/,

{P }*,. @5t branch pt. #H\" 2%-n §. IXFo ¢ X

Fi#AF)

bt := Z 3& - IT X% —
L[ <-< f, kK +4 i C Xz, ~Ky) - (Xz - xXy)
T (%,~-%
C(m) ‘= Z g'}l 331-: . _*.._-int - ’ T
1€ % << dnn 723 1T (X7 - %) - (%5, -~ Xi)
k# 3. In-s

F = b(x) ~3-CCx) | ¢ = F/_ﬁ_L.
L AT




$2. W en$k

C C [Pa + Smoeth | n«mde;encrcd'e cwurve
des = ¢ BN =9

Yo €« C : fix
) 1
Z‘Pi = (8*"?. ~'Z‘R£ ..:"Pq
i o\ k=

% 'EH3 tat ta‘t’ibud function ©
t X3



{ P: h.. € Hm %3 m:X surface Hw o
iﬁﬁﬂﬁm‘ ,

Fin ([P0 5% 22" det (9% = =iy =) - M
+ det A - MNu"l

BL. M, ~Mpuuar & K% 9.2,Ww] & mX menemial,

f]f,‘ =‘£(M’.(P'), ",Mj(Pﬂn)), A:(‘b‘, ---'b‘“N.)
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C | rP3 : Smeoth, nondegenerafe . de, =d, 2(c)= 9

PoeC % $ix. F,~P,,.€C. =xt e,

- 7
21 Ps - (3+1)-Po ~ZR ~+Ph 523 P2
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3 -~

{Qi}?dz?m , a{Ri};i, c C
TS T e PP e

s.t.
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proof

" Nm Z md 2 341 eR3&dIE meZy, tei.

* m=Rsurface Hm kont . Hm. ¢ = { md .!5)'

Hm = Z(Fm( {NT,{Q;'{. { say ])

Hw = ZOFn 1@y, {Riy, (7o, Pvi) e73e

] md- (34
Hwm. ¢ = iPi*ZQ;
md = 341)

H,M- C = ZQ“ + Po + iR‘,

|
.‘.gf‘; - (341 Pe ~ Fo*%ﬁx = (3+1) - Py

= § R: - 2 Po
Fwm (LR Y, (Qz‘t.{S:VL
F (1Q:y,{R:Y. T3, P,
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